SAP ABAP table RCF S CLASSIF ACTIVITY TXT {Classification}

N TOO0O
MANDT [CLNT (3)]

T7780
MANDT [CLNT (3)]
OTYPE [CHAR (2)]

T778P
MANDT [CLNT (3)]
PLVAR [CHAR (2)]

T778S

0-N_______ RCES CLASSIF ACTIVITY TXTISTAT = T778S-ISTAT __________ [WANDT [CLNT (3]
ISTAT [CHAR (1)]

o T778T
0..N | MANDT [CLNT (3)]
INFTY [CHAR (4)]

T778U
________________ MANDT [CLNT (3)]
INFTY [CHAR (4)]
SUBTY [CHAR (4)]

T77RCF_ACT_CAT

MANDT [CLNT (3)]

ACT_CAT [NUMC (2)]

T77RCF_ACT_TYPE

MANDT [CLNT (3)]

ACT_TYPE [CHAR (4)]




